
 

h'un ufpFkflnsfsf] cf=j= @)*!.)*@ sf] cg'dflgt ah]6 

qm=;= ah]6sf] ;|f]t ÷tx ah]6 ? s}lkmot 

!  g]kfn ;/sf/   

 

!=! ;dflgs/0f cg'bfg !),%&,)),)))÷– 
!) s/f]8 %& nfv 

1=2 z;t{ cg'bfg 19,72,00,000÷– 
19 s/f]* 72 nfv 

!=# ;dk'/s cg'bfg 
0  

!+=$ ljif]z cg'bfg 1,20,00,000÷– 
1 s/f]* 20 nfv 

@ k|b]z ;/sf/   
 

2=1 ;dflgs/0f cg'bfg 1,05,65,000÷– 
1 s/f]* 5 nfv 65 xhf/ 

2=2 z;t{ cg'bfg 2,24,60,000÷– 

2 s/f]* 24 nfv 60 

xhf/ 

2=3 ;dk'/s cg'bfg 2,00,00,000÷– 
2 s/f]* 

2=4 ljif]z cg'bfg 80,00,000÷– 
80 nfv 

# /fhZj jfF8kmfF8   
 

#=! g]kfn ;/sf/ 11,01,00,000 
11 s/f]]* 1 nfv 

#=@  k|b]z ;/sf/ 3,67,41,300 

3 s/f]* 67 nfv 41 

xhf/ 300 

$  cfGtl/s >f]t   
 

$=! cNof 2,00,00,000÷– 
2 s/f]* 

4=2 cfGtl/s cfDbfgL 1,00,00,000÷– 
1 s/f]* 

  hDdf 55,27,66,300 

55 s/f]* 27 nfv 66 

xhf/ 300 
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